Ultimate Flannery 2D (modified)
This version is slightly modified from the one by Seibert in the Bulletin:
1. When opener has a 6-4 and is presented with a 2NT bid by responder:

a. Opener’s first rebids are  3S=long clubs(2 or 3) and 3NT=long diamonds(2 or 3)
i. If responder wants to know more, he ask with 4c. Opener’s “one-up” response says “2-card length” and “two-up” response says “3-card length”. 
b. Responder’s second bid of 3NT is to play
Responder’s Bids

a) 2 ♥, 2 ♠ are to play

b) 2NT asks for description of opener’s hand - forcing to game
Opener’s rebids in response to 2NT

3 ♣/3 ♦ shows 3 cards in that minor

3 ♥ shows 2-2 in minors (any strength)

3 ♠ shows 6H’s, 4S’s with singleton or void in clubs

3NT shows 6H’s and 4S’s with singleton or void in diamonds

4 ♣/4 ♦ shows 4 cards in that minor

After a 2NT ask and receiving a 3 club or 3 diamond response, responder can make a further enquiry about opener’s strength by bidding 4(. Opener’s rebids are:

4( = minimum (11 to a poor 14)

4( = maximum (14 good to 16)

After a 3S or 3NT response (showing 6 hearts and 4 spades) responder can ask whether minor suit length is 2- or 3-cards by bidding 4♣: e.g.
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c) 3 ♣/3( is a limit raise in one of the majors with concentration of strength in the bid minor. Opener bids 3♥ if his hand does not fit well or 4♥ when it does fit well with responder’s minor. Responder passes or corrects to spades when that is his suit. Example:
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d) Responder bids 3( or 3(
Limit raise – invitational with scattered values; i.e. no minor-suit concentration of values. Opener raises to game with good 14+

